KAl = -

6/7(4) E oy 7 e PRBIIR© Fhii 3k — 5 (1~480%)

KAUTEEAEZABM TOHVET DT, HFEBEAEDOREIIRDIELHVET,

AP - 6L 1P, THLIT2ME, BEARFSRIIOME, &R - RN EITARS, BRI & RICHY £,

[ 15 ] Bl £ 8:30~9:15 EIETED INBii% Q) 10:25~11:10
14F HRIIAR A 3R 4R HERIIASF
752 1—1 1—2 1—3 1—4 1-5 752 1—1 1—2 1—3 1-4 | 1-5
BEE | AWHBE | N EWR | RiEGER | PEERT| R m¥EE | BARK | migEeEs | hNEER FR LA - AT
HR} B paiip e B =k S HE} fhe YRk HeEh ENENE)
TG 1 — 18 | F1EAs | 1-3%E=E | 1 —4%= ESiES FRis 1— 18 | 1—2% | 1-3%E | BT f0Eg, 75k
24F HERIIR AR B IR A OF 24 HRII A AR B I OF
75 A 2—1 2—2 2—3 2—4 7H# 752 2—1 2—2 2—3 2—4 7
BER | MEEY | BHEE | DEER | RESRZ By ¥R | REBRZ | STHE | BT | a8 RSP A
HR} il KT YR RS B HE} EiE B+ tx A} PR}
SR T I 2— 2% | 2—3HE | 2—4AH=E TRAZ Fhasmpi 2—1%= | 2—2%= | 2—3%=E | F1FH= THRLZ
34 HRIIELF HERIIE2R IR 34 HRIIR AR BRI T4 2F B IRA 1T
75 A 3—-1 | 3-2 3—3 3—4 3—5 61l 752 3—1 3—2 3—3 3—4 3—5 61
¥ R LI EL AT S SEmthia | BAbHOAH | NERIT | Boodl T BEXR | JIIEHR | RARBE| DNERIT | Emtha | MESE | EHRS
R RIEEE e g EE RS HEt R Hor SR i Hor Yeih
TS| B F e b IR EEE 3—3%E | H2HAE | 3-5%= | 6HH= M| F2EEAE | 3—2%EE | 3—3%E | 3—4#= | 3-5%=E | 6MHH=
EEED| NBHPZEQ) 9:25~10:10 [42HF]) ABIRE@[FAE] 11:20~12:05 REOBTEME T
14E B ISR 14F R IA A 3R
75 A 1—1 1—2 1-3 1—4 1-5 I5 2 1—1 1—2 1—3 1—4 1—5
FEH | MEEE | BARK | JIEER | wiEEE eSS BEH E S IEER | AWK | BiEERR | SLER
Bt HERE the A} P B HEt S S 26 26 26
FRagET 1—1%E | 1—2%== | H1ERlE | 1-4%= S FERiT| 1— 1% | 1—2%= | 1-3%E | 1—4a%= | 1-5%%
24F BRI AR B A 2F 2UF RN IA A AR BT 2F
75 A 2—1 2—2 2—3 | 2-4 7HA 75 A 2—1 2—2 2—3 2—4 THE
BER | WHEE | IR S EE - AT ¥ BEE | NEBEEH | REBZ | mEEE | REAT st
BEt FE eIl RIEEE Sk HEt E2G] E2G] E2G] E2G] B
FEhagAT| 2—18= Bl | B BEE, L oREE 6RH FEhadgr| 2— 18 | 2—2% (= | 2—3F=E | 2—4H=
34 HEIIRELR HRIIKE2R BRI 1T 34 HERIIRELF BRI 2F B I 1T
75 A 3—1 3—2 3—3 3—4 3—5 65l 752 3—1 3—2 3—3 3—4 3—5 61
BER |MESHE | REnT PEARDDAH | /NREAT | AR | f R T R | AWEE | RAREIE | LWt | e | NRRAT [AREVT
HE B the paiip =g e Bh HEt 26 E2G] E2G] E2G] E2G] At
ERiGET|3—1%E  [3—2%= | HopiRlE | 3—4#= | 3—5%=E | 6i#HH=E ERigr| 3— 1% | 3—2#%= | 3—3%E | 3—4a#= | 3—5%HE




